
    

 

 
 
 
 
 
1. Halla el ángulo de los siguientes vectores: 
 

u = (3, 0)    v = (5, 5) 

cos α =  u  .  v     =  (3 . 5) + (0 . 5)   =  15 + 0   =   15       = 0,70 

              u  .   v             3  .      50           3 . 7,07     21.21   

α  =       ¹  0,70 =  45º 

  u  =     3² + 0²   =    9   = 3  

  v  =       5² + 5²  =      25 + 25   =     50 

 

u = (5, 6)    v = (-1, 4) 

cos α =  u  .  v     =  (5 . -1) + (6 . 4)   =  -5 + 24      =   19       = 0,59 

              u  .   v              61 .    17           7,81 . 4,12      32,20 

α  =       ¹ 0,59   =  53º 

  u  =     5² + 6²   =    25 + 36   =     61 

  v  =      -1² + 4²  =     1 + 16 =     17 

 

u = (3, 5)    v = (-1, 6) 

cos α =  u  .  v     =  (3 . -1) + (5 . 6)   =  -3 + 30      =    27       = 0,76 

              u  .   v              34 .    37           5,83 . 6,08      35,46 

α  =       ¹  0,76 =   40 º 

  u  =     3² + 5²   =    9 + 25   =       34 

  v  =      -1² + 6²  =     1 + 36 =     37 
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SOLUCIONES 

VÍDEO: ángulo entre dos vectores 


